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GENERAL STUDIES (PAPER-])

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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1.

3.

Foafed ¥ IW-AF F1a 7% wmiers dR anfdls &3 & afen aiEd 5t Ytk Fifkvm)
(I 150 weat § Hifsm)

Underline the changes in the field of society and economy from the Rig Vedic to the
later Vedic period. (Answer in 150 words)

fgw wra A Fen 9 Wied F fawm § wiE * ugal  deE w1 geaiwa i
(3W 150 w=a1 & dfv)

Estimate the contribution of Pallavas of Kanchi for the development of art and
literature of South India. (Answer in 150 words)

9 B T off foed Fro wa 91D ke Y& gen? 36 wiomE # w Fifvw)
(3 150 w=ai ¥ i)

What were the events that led to the Quit India Movement? Point out its results.
(Answer in 150 words)

W Fae F a9EH § gig F1 87 98 SwmRety Sardl o i B Y wsiieE e 27
(S| 150 w=a1 # €if¥)

What is sea surface temperature rise? How does it affect the formation of tropical
cyclones? (Answer in 150 words)

B W fi ga § 92 v s waiEl | w o w0 37 Rewste 3 £ RufE ¥

I § gl faas fifi) (3W 150 w=a1 | difsng)
Why do large cities tend to attract more migrants than smaller towns? Discuss in
the light of conditions .in developing countries. (Answer in 150 words)
‘T w2’ ) uftme w27 =Em fif (S| 150 w=a1 & difsm)
What is the phenomenon of ‘cloudbursts’? Explain. (Answer in 150 words)

‘SaiferhE Tfia (SHmfes fam)’ it sauren @ 27 w0 9w ghen U fRfa B ek sm 27

fowar & wamsU) (IW 150 w=at # ifs)
What is the concept of a ‘demographic winter’? Is the world moving towards such a
situation? Elaborate. (Answer in 150 words)

TR THMA], ST e Ta Aigen aufwator F o9 ofat $ T i | FHE B qieerd iR
FEiaT § e TRl F wH § w6 aeEg 27 (FW 150 w=at & ifvm)

Distinguish between gender equality, gender equity and women’s empowerment.
Why is it important to take gender concerns into account in programme design and

implementation? (Answer in 150 words)
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10.

11.

12.

13.

HHF WS- 98 el Siadt & e SR fHar 30 € a ¥ €, feg sauhis fam
F R 0 32 0w 2| &= fiftm (IW 150 ==t | i)
Intercaste marriages between castes which have socio-economic parity have
increased, to some extent, but this is less true of interreligious marriages. Discuss.
(Answer in 150 words)

fomrra % amfee-anfie q= & five § aen, v @ @ Bl A ¥ fe e wEr W
i watf swEnR e (IW 150 wr=t & Aifsrw)

In dealing with socio-economic issues of development, what kind of collaboration
between government, NGOs and private sector would be most productive?

(Answer in 150 words)

it wem Ay ot Hee TE § A I wen 9 angeen F 89§ I IafeEt ¥
Fro asft oft 3R agad T | AR frn s )7 R Hif) (IW 250 w=1 & <ife)

“Though the great Cholas are no more yet their name is still remembered with great
pride because of their highest achievements in the domain of art and architecture.”
Comment. (Answer in 250 words)

T8 FEl FE o I B T yum faugg qea: wie-tgen ) 99 @R F e @ oo

(3M 250 =t # difm)
How far is it correct to say that the First World War was fought essentially for the
preservation of balance of power? (Answer in 250 words)

WRA # TEfed i FER I F e ¥ forn e B e wfR wel o sewerd o7

(W 250 w=At # difs)
How far was the Industrial Revolution in England responsible for the decline of
handicrafts and cottage industries in India? (Answer in 250 words)

14, T @ F yFe g § 1R e o @ ) Tw R f @re-geen B 5 wafia woawd 87

15.

(IW 250 vi==i 7 difor)
The groundwater potential of the gangetic valley is on a serious decline. How may it
affect the food security of India? (Answer in 250 words)

A Arefom sl it Sifafea =0 &7 3 2 fa B ¥7 (I 250 w=Ei # €ifs)

What are aurora australis and aurora borealis? How are these triggered?
(Answer in 250 words)

16. fy=t = 27 A it wrdt F omewm F a6l § afteaw P W@ 2@ wm #7

(3| 250 wi==E1 # difsm)
What is a twister? Why are the majority of twisters observed in areas around the
Gulf of Mexico? (Answer in 250 words)
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17. mmmw%?%ﬁﬁw%mmﬁa%? wia § &1 s 1 g e i R7
(I 250 w=At F difsm)

What is regional disparity? How does it differ from diversity? How serious is the
issue of regional disparity in India? (Answer in 250 words) 15
18. WHFW 3R HIRE ™ # =uw Al F R, i 7% dfa @i w1 wReE g iesfedd
RIS HaTs o qU A e e @ R ot Fif) (I 250 =T 7 i)
Despite comprehensive policies for equity and social justice, underprivileged

sections are not yet getting the full benefits of affirmative action envisaged by the
Constitution. Comment. (Answer in 250 words) 15

19. Adfimm X fiftm ol f Fw, 791 @ afErfa sResd go wed vaw § gfe R el
I AR @oaa Td IRaR ® |y Geu] W 1 9N S 87 (I 250 w=a1 § <ifsm)

Globalization has increased urban migration by skilled, young, unmarried women
from various classes. How has this trend impacted upon their personal freedom and
relationship with family? (Answer in 250 words) 15

20. T Afmd F SRS e fifw 5 wra A i Rfgm ok amnfes- e
driaaelt ¥ #= T T HEEa ) (IW 250 =21 | €ifo)

Critically analyse the proposition that there is a high correlation between India’s
cultural diversities and socio-economic marginalities. (Answer in 250 words) 15

* %k %k
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